Pei Chun Public School
Continual Assessment - 2007

Science
Primary 4
Name : ( } Date : 24 August 2007
Class : Pr1.4¢( )
Science Teacher : Time: | hr 20 min

Section A (25 x 2 marks)
For questions 1 10 25, choose the most suitable answer and shade its number (1, 2, 3 or 4) on the
Optical Answer Sheet (OAS) provided.

1. Some living things have been classified as shoxvﬁ_ below.
Living things -
shark ' tiger " crocodile

The living things are classified according to

(1) their body covering

(2) the way they move

(3) where they live

(4) what they eat ( )
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2. Max conducted a series of tests on materials E, F, G and H. His results are shown

below.
E F G H
Breakable v x X X
Flexible x v X
Stretchable X v X o
Waterproof v 4 v X

Which material is the most suitable to be made into a long-lasting bookshel f?

(1) E
(2) F
3) G
(4 H

3. Study Radiah’s family tree below.

O

Radiah

Which of the statements below is déﬁnitely true?

(1) Radiah has two siblings.

(2) Radiah has three uncles.

(3) Radiah’s mother has one sister.

{4) Radiah’s father is the youngest son.
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Key: O female
D male
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4. The diagram below shows the stages in the life cycle of a butterfly.

The graph below shows the amount of food eaten by the butterfly at the 4 different
stages of its life cycle.

The line ‘BC’ shows the

(1
(2)
(3)
(4
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> Time

stage of the butterfly.

5.  Fouridentical dishes, A, B, C and D, each contained the same amount of cotton wool.
Five beans were placed on the cotton wool in each of the dishes for 5 days.
The containers were placed in different places.

Based on the information in the table above, which dish{es) will have seedlings in 5

days’ time?
(1) Aonly
(3} Band C only
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Water

Dish Air Suslight | Temperature
A Yes Yes Yes 30°C
B No Yes Yes 29°C
C Yes No No 33°C
D Yes Yes No 29°C

(2) AandDonly
(4) Cand Donly
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6. A, B, Cand D represent Shanti’s sensc organs. The table below shows how the sense
organs tell her about her sumoundings.

! 1
i Sense Organ Information
A Tells her that the rock is rough.
B Tells her that there is thunder.
C Tclls her that the ball is blue.
D Tells her the scent of her perfume.
Based on the information given, what do A, B, C and D represent?
A B - C p |
{1 eyes ears ! nose skin
) | eyes ; cars skin nose
(3) skin eyes nose i cars
(4) L skin ! ears eyes nose ( )

7. When muscles contract, they shorten. When muscles relax, they lengthen. Muscles
move bones. The arrows show the directions in which the bones move.”

Bending arm . Straightening-arm
=", Shoulder

e
shoulder O

biceps relaxed i
contracted < /:>?{ 4 triceps
triceps relaxed 17 ; contracted
; | o elbow joint
etbow joint i

According to the diagrams, to straighten the arm, -

(1) the biceps lengthen and the triceps lengthen

(2) the biceps lengthen and the triceps shorten

(3) the biceps shorten and the triceps Jengthen

(4) the biceps shorten and the triceps shorten { J
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8. Aniron nail becomes an electromagnet when it i placed in a coil of wire joined to
batteries. Samuel wants to find out whether the number of turns of the coil affects the
strength of the electromagnel.

*

10 turns R 20 turns

10 turns 20 turns

a4

Which two arrangements in the above diagrams should he set up to conduct a fair test?

() AandConly (2) A and D only
(3) - Band D only ) (4) CandDonly ( )

9. The diagram below shows 3 magnets that repel one ancther when placed on a table.

r

W X

Which of the following correctly shows the possible poles of U, W and Z?

U W Z
A North North South
B North South South
C South South North
D | South North North
(1} Aand Conly : (2 AandBonly
(3) Band D only (4) CandDonly ( )
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10. Suying has a piece of plasticine which is 160g and has a volume of 40cm’. She
moulded the whole piece of plasticine into 3 parts: bead, body and tail. She measured
and recorded the masses and volumnes of the 3 parts before putting them together to
foom a duck.

[
Which of the following shows the correct results?

(D Shape of plasticine Wiass (g) Volume (cm’) ]
head 50 bl
body 60 22
tas! 50 15
2 Shape of plasticine Mass (g) Volume (cm’)
head 48 12
body 70 18
tail 40 10
(3) Shape of plasticine Mass (@ | Volume (cm®)
head 40 10
body 80 20
tail 40 5
C)) Shape of plasticine Mass (g} Volume (cm’) }
head 48 12
Mw‘t;ody | 88 22
tail 24 6
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11, 5blocks,P,Q, R, Sand T, of different masses are attached to a spring one ai a time as

shown below,
-

0 g :

retord ¢
stand ]

i
!

fa =

The length of the spring is measured and recorded in the table below.

Block Length (cm) !
P 18
Q 24
R -5 )
S 29
T H

Arrange the blocks in decreasing order of mass.

() S,QP,T.R o T
(3) Q,R,S,P.T- L@ S,

P.S,R, Q
T,P.Q.R

12, Weiliang set up an experiment as shown below.

measuring
1601 [ cylinder
80—
60

Which of the following would he observe if he transfers two of the marbles from the
beaker into the measuning cylinder?

Water level in the Water level in the
measuring cylinder beaker
(1) Nothing happens Rises
(2) Rises Nothing happens
©)) Rises Falls
¥ Falls Falls - ( )
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3. Ahya wanted to investigate the way a piece of ice is worn away by warm running
water. She placed a long piece of ice in a sink and let a thin stream of water run slowly
over it :

thin strearn of water

piece of jce

Aliya measured the height of the piece of ice and plotted her results in a graph. Which
of the following graphs shows the correct change in the height of the piece cfice?

. m ~ 4 (2)
£ 7 E
£ 2
L4 [V
2 2
Sy G
(=] (=]
[~ ()]
(2] [¥]
2 2
2. o
3 k=
E; S
3 =
] S
X N o] -
Time (min) Tirae {(min)
—~ A (3 = A (4)
E =
2 L
2 8.
5 5
= [F)
k1 K
3‘ o
S 3
bt b
% £
W ‘D
o] _ i}
Time (min) Time (min)
( )
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14.  Mum placed some hot meat buns on a dry plate and covered it with a plastic cover.
After a few minutes, she saw tiny water droplets on the plastic cover.

water droplet

hot meat buns

Where do you think the water droplets came from?

(1) Wann water vapour from the meat buns rose up to the plastic cover
and condensed on the inside of the plastic cover.
(2) Warm water from the plate rose up-to the plastic cover and condensed
on the inside of the plastic cover..
(3) Warm water vapour from the air inside the plastic cover condensed
on the outside of the plastic cover..
(4) Warm water vapour from the air.outside the plastic cover condensed
on the inside of the plastic cover. . { )

15.  Arthur placed an equal amount of water info 3 identical beakers. He put a plastic cover
over beaker A, poured a Jayer of oil into beaker B and lefi the water in beaker C
exposed. He then placed all the 3 beakers side by stde in the school field.

Plastic o1l

63
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16.  One way of checking whether water is polluted is to see how clear it is. In general, the
clearer the water, the less polluted it is. With this in mind. a group of P4 pupils
collected four beakers of water from four different places, A, B, C and D. Using the
set-up below, they measured and recorded the amount of light that passed through the
lour beakers of water.

Beaker of Light sensor
water collected

The table below shows the data collected. From the data, which place has water that is
the most polluted?

[ I Amount of light received by the sensor |

) Place (units)
(H A 1.2
(2y B - 40
(3) C 7.8 L
(4). D 55 < A )
17.  Meiling prepared the sémp below.
Flask A Flask B
_ . air . : —_
A to pump | to pump
grasshopper limewater ' limewater

Meiling observed that the imewater in Flask A tumed more chalky than the limewater
in Flask B. Which of the following is the most likely reason for Meiling’s observation?

(1) Flask A does not have any carbon dioxide but.Flask B does.

(2) Flask A has carbon dioxide but Flask B does not.

(3) Flask B has more carbon dioxide than Flask A.

(4) Flask B has less carbon dioxide than Flask A. ( )

64
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18. Ranjit was given three gas javs of different sizes. He lighted three identical candles
and inverted the 3 gas jars over them as shown below.

il L]

B

Which of the following shows the correct order in which the flames extinguish?

() B,AC
2y C,AB
3) B,CA
@ CBA ( )

19. A group of pupils prepared the set-ups be]ow The set-ups were placed side by side in an
open field on a sunny day.

i black —
fruit f] cal '
1t 1y ® covered d
glass | ko - box
case , ' t
Lost . water
frog —ZZ~L =
A B
black —} ot glass
ool\)fer . p case
ox

C D
Which of the sealed set-ups above would contain the most amount of oxygen after 3
hours?
I A
(2 B
3 C
(4 D ( )
65
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20. A healthy plant is put in a glass case and left in 2 sunny place.

[~

glass case

Which of the fol I_dwing most likely shows the change in the amount of gases present
in the glass.case after two hours?

‘Carbon dioxide | Oxygen Water vapour
(H " décrease increase increase
(2) ©  decrease decrease ! increase
(3) . increase increase : decrease
(4) .increase | decrease i increase (

21.  Fionne sets up an experiment as shown below.

= white rose

beaker ——

+—— 400 ml of purple-coloured water

‘What will she observe after two days?

Amount of water i
Colour of petals | left in the beaker
(ml)
(M) white 350
(2) purple 400 3
3) purple 350
“4) white 400 (
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22, Mrs Lee asked the following question:
Why does vour heart beat faster when you exercisc?
3 pupils gave the following answers.
Arict  : To pump biood more quickly to all parts of our body.
Kumar : To supply more digested food and oxygen to all parts of our body.
Nabil : To get rid of carbon dioxid'e produced by our body more guickly.

Who answered the above question comrectly?

(1Y Ariel only (2) Anel and Kumar only
(3) Kumar and Nabil only (4) All of them

23, Study the flow chart below. A, B and C represent 3 different animais.

Gets energy directly Yes Gets energy frémh - Yes
from plants? >l other animals too” C
l No : l No ‘

A B
What coufd A, B and C most likely be?

A

B SR S N
(H L tiger | elephant mouse |
(),  polarbear ! goat cow
3y | lizard | rhinoceros ) lion ﬂ
(4) } fox ‘ frog f chicken ; (

24, A stick is placed in the middle of a board in a dark room.

P

Which of the bulbs have to be switched on so that the shadow of the stick shown in the
diagram is formed?

W P | @ 0
3 R 4 S
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25. Razak wrote the word ‘CAT’ on a card. He hcld the card in front of a mirror,

‘What Razak wrote:

CAT

What Razak saw in the mimor:

TAD

]

He held another card with the word *FEED” in front of & mirror. What would Razak
see in the mirror?

FEED

M g334
@ JEEJ

®  DEES \ N
@ g3E’q B

For Questions 26 to 30, please refer to Booklet K.

{End of Section A)
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Section B (20 marks)

For questions 31 10 39, write your answers in the spaces provided.

31. The table below shows the boiling points and freezing points of four

substances, A, B, C and D.

Substance -i Boiling point (°C) | Freezing point (°C)

A 75 20

B 80 20

C 120 90

D | 310 90
8)  Which substance(s) is/are gas at 85°C ? ) (1m)
5} Which substance(s) is/are solid at 30°C 7 - (1m)

SCORE
09
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32, Study the flowchart below.

START

Matenals
v No , No

13 1t S[rong? Is it flexible?
lYes : Yes
o _ 3 No
Is it magnetic? ‘Mo Can it float on water? —
Yes Yes
a) State two similarities between material R and Q. ' (1m)

b) Ifmaterials T and S were mixed together, explain how these two matenals
could be separated. (tm)

SCORE
70
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33. Kevin took 4 magnets and dipped the ends of the magnets iato a box of
staples.

N Q R S

Then he counted the number of staples picked up by each magnet.
He recorded his results in the table belqw.

Magnet | Number of staples picked up by the magnet
P 26 i
Q 24
. R 30
s | ) ]

a) Based on the results above, decide which of the following conclusxon(s) 1m)
1/are correct by tlckmg (/) the appropriate columns. . (1m)

-~ | The wider the magnet, the stronger
0 the magnetic force it exerts.

- | The strength of the magnetic force depends on the
‘) length of the magnet.

- | The strength of the magnetic force does not
) depend on the size of the magnet.

W) | The thinner the magnet, the weaker the magnetic
| force it exerts,

p) Arrange the four magnets from the strongest to the weakest. (1m)

SCORE
7
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34.  Clement started recording his pulse rate while he was resting at home at 10 2 ™
Then he went for a swim. The graph below shows Clement's pulse rate from
10 a.m. onwards.

A

A4

a) From the graph, which part shows that he was resting? (1m)

b) Explain why his pulse rate increased when he'was swimming. (2m)

35. The diagram below showshow plants and animals exchange gases between
themselves and their environment. '

a) Complete the diagram with the following words: (2m)

s - ) . I ) _
})ﬁs carbon/d'i@ alymﬂs cygEn

——» Process A

1) -
el ’ T~e — —» Process B
/// \\\\
a4 -

-~ e~
1() 1t _

Nalil) &

b) Name the processes A and B, (1m)

A B: SCORE ;
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36. A teacher set up 3 boxes as shown below. The boxes were placed side by
stde near an open window.

Plant A Ptant B Plant C

o
ot

Clear glass box Cardboard box Wooden box

Some pupils made the following statements based on the set-ups shown

above. Put (T) for a correct statement and (F) for a wrong statement, (2m)
a)- Plant A will most hikely grow healthily. ( )
b) Plants B and C will grow towards the operungs in the boxes ( )
after a few days.
"¢} The experiment shows that plants need air, water and sunlight. ( )
d) The above set-ups can be used to show how a plant responds ( )

to sunlight.

37. Xuimei set up the experiment below to measure the length of the shadow
when the distance between the light source and the box changes.
N

b

Light source Box
. . Screen
She recorded the readings in the table below.
Distance between the light 20 10 40, 50
source and the box (cm)
Length of the shadow (cm) 15 13 11 -9

What pattern do you notice about the distance between the light source and the
box and the length of the shadow? (2m)

SCORE
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38. Rahmat shone a torch on an object as sh

—

object

torch

fixed screen

Write down two things that he can do to makethe shadow smaller.

a) Im)
b) ’ “1m)
SCORE
74
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39. Cards P, Q, R and S are made of different maternials. They are arranged in a
siraight line. There is a star-shaped cut-out on Q. When Caieb shines a

torch on P, a bright star is seen on R. Tick (¥) the correct B\ox to show (2 m )

whether the materials, P. Q, R and S allow light to pass through.
Q R S
Cards | Does not allow light Alows most of the Not possible
to pass through light to pass through to tell
P
Q
R
S
v
“For Questions 40 to 44, please refer to Booklet K.
End of Paper
Setby ©  Ms Norhidayah Bite Ahmad
Vettedby : P4 Science Committee teachers
SCORE |
P
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